

1. Consider $f(x) = \cos(x)$

By the function, we have $\frac{d}{dx} \cos(x) = -\sin(x)$.

The Taylor series for $\cos(x)$: $\sum_{n \geq 0} \frac{f^{(n)}(0)}{n!} x^n$

$$\begin{aligned} &= f(0) + f'(0)x + \frac{f''(0)}{2!}x^2 + \frac{f^{(3)}(0)}{3!}x^3 + \frac{f^{(4)}(0)}{4!}x^4 + \frac{f^{(5)}(0)}{5!}x^5 + \dots \\ &= \cos(0) - \sin(0)x - \frac{\cos(0)}{2!}x^2 + \frac{\sin(0)}{3!}x^3 + \frac{\cos(0)}{4!}x^4 - \frac{\sin(0)}{5!}x^5 + \dots \\ &= 1 - 0 - \frac{1}{2!}x^2 + 0 + \frac{1}{4!}x^4 - 0 + \dots = 1 - \frac{1}{2!}x^2 + \frac{1}{4!}x^4 - \frac{1}{6!}x^6 + \dots \end{aligned}$$

Taking the derivative,

$$\begin{aligned} &\frac{d}{dx} (1 - \frac{1}{2!}x^2 + \frac{1}{4!}x^4 - \frac{1}{6!}x^6 + \dots) \\ &= -x + \frac{1}{3!}x^3 - \frac{1}{5!}x^5 + \frac{1}{7!}x^7 - \dots \\ &= -(x - \frac{1}{3!}x^3 + \frac{1}{5!}x^5 - \frac{1}{7!}x^7 + \dots) \end{aligned}$$

We know that $(x - \frac{1}{3!}x^3 + \frac{1}{5!}x^5 - \frac{1}{7!}x^7 + \dots)$ is the Taylor series for $g(x) = \sin(x)$, because:

$$\begin{aligned} &\sum_{n \geq 0} \frac{g^{(n)}(0)}{n!} x^n \\ &= g(0) + g'(0)x + \frac{g''(0)}{2!}x^2 + \frac{g^{(3)}(0)}{3!}x^3 + \frac{g^{(4)}(0)}{4!}x^4 + \frac{g^{(5)}(0)}{5!}x^5 + \dots \\ &= \sin(0) + \cos(0)x - \frac{\sin(0)}{2!}x^2 - \frac{\cos(0)}{3!}x^3 + \frac{\sin(0)}{4!}x^4 + \frac{\cos(0)}{5!}x^5 + \dots \\ &= 0 + x - 0 - \frac{1}{3!}x^3 + 0 + \frac{1}{5!}x^5 - 0 + \dots = x - \frac{1}{3!}x^3 + \frac{1}{5!}x^5 - \frac{1}{7!}x^7 + \dots \end{aligned}$$

So, by the series, we have $\frac{d}{dx} \cos(x) = -(x - \frac{1}{3!}x^3 + \frac{1}{5!}x^5 - \frac{1}{7!}x^7 + \dots) = -\sin(x)$

2. Consider $f(x) = \frac{1}{1-x}$

Get the derivative of this function, we have:

$$\frac{d}{dx} f(x) = \frac{d}{dx} \left(\frac{1}{1-x} \right) = \frac{1}{(1-x)^2}$$

The Taylor series for $f(x) = \frac{1}{1-x}$ is:

$$\begin{aligned} &\sum_{n \geq 0} \frac{f^{(n)}(0)}{n!} x^n \\ &= f(0) + f'(0)x + \frac{f''(0)}{2!}x^2 + \frac{f^{(3)}(0)}{3!}x^3 + \frac{f^{(4)}(0)}{4!}x^4 + \frac{f^{(5)}(0)}{5!}x^5 + \dots \\ &= 1 + x + x^2 + x^3 + x^4 + \dots \\ &= \sum_{n \geq 0} x^n \end{aligned}$$

Take the derivative of $\sum_{n \geq 0} x^n$, then we can get :

$$\frac{d}{dx} \left(\sum_{n \geq 0} x^n \right) = \frac{d}{dx} (1 + x + x^2 + x^3 + x^4 + \dots) = 0 + 1 + 2x + 3x^2 + 4x^3 + \dots = \sum_{n \geq 0} nx^{n-1}$$

We know that $\sum_{n \geq 0} nx^{n-1}$ is the Taylor series for $g(x) = \frac{1}{(1-x)^2}$, because:

$$\begin{aligned} & \sum_{n \geq 0} \frac{g^{(n)}(0)}{n!} x^n \\ &= g(0) + g'(0)x + \frac{g''(0)}{2!}x^2 + \frac{g^{(3)}(0)}{3!}x^3 + \frac{g^{(4)}(0)}{4!}x^4 + \frac{g^{(5)}(0)}{5!}x^5 + \dots \\ &= 1 + 2x + 3x^2 + 4x^3 + 5x^4 + \dots \\ &= \sum_{n \geq 0} nx^{n-1} \end{aligned}$$

So we have proved that $\frac{d}{dx}(x^n) = \sum_{n \geq 0} nx^{n-1} = \frac{1}{(1-x)^2}$

3. Consider $f(x) = x^3 + 2x + 1$

Get the derivative of the function, we have:

$$\frac{d}{dx}(x^3 + 2x + 1) = 3x^2 + 2$$

The Taylor series for $f(x) = x^3 + 2x + 1$ is :

$$\begin{aligned} & \sum_{n \geq 0} \frac{f^{(n)}(0)}{n!} x^n \\ &= f(0) + f'(0)x + \frac{f''(0)}{2!}x^2 + \frac{f^{(3)}(0)}{3!}x^3 + \frac{f^{(4)}(0)}{4!}x^4 + \frac{f^{(5)}(0)}{5!}x^5 + \dots \\ &= 1 + \frac{2}{1!}x + \frac{0}{2!}x^2 + \frac{6}{3!}x^3 + \frac{0}{4!}x^4 + \frac{0}{5!}x^5 + \dots \\ &= 1 + 2x + x^3 \end{aligned}$$

Take the derivative of $1 + 2x + x^3$, then we can get:

$$\frac{d}{dx}(1 + 2x + x^3) = 2 + 3x^2$$

Therefore $\frac{d}{dx}(1 + 2x + x^3) = 3x^2 + 2$

4. Consider $f(x) = \log(1+x)$

By the function, we have $\frac{d}{dx}\log(1+x) = \frac{1}{1+x}$

The Taylor series for $\log(1+x) = \sum_{n \geq 0} \frac{(-1)^{n+1} f^{(n)}(0)}{n} x^n$

$$\begin{aligned} &= f(0) + f'(0)x + \frac{f''(0)}{2!}x^2 + \frac{f^{(3)}(0)}{3!}x^3 + \frac{f^{(4)}(0)}{4!}x^4 + \frac{f^{(5)}(0)}{5!}x^5 + \dots \\ &= \log(1+0) + \left(\frac{1}{1+0}\right)x - \frac{\left(\frac{1}{(1+0)^2}\right)x^2}{2!} + \frac{\left(\frac{2}{(1+0)^3}\right)x^3}{3!} - \frac{\left(\frac{6}{(1+0)^4}\right)x^4}{4!} + \frac{\left(\frac{24}{(1+0)^5}\right)x^5}{5!} - \dots \\ &= 0 + x - \frac{x^2}{2} + \frac{x^3}{3} - \frac{x^4}{4} + \frac{5}{5} \end{aligned}$$

Taking the derivative, $\frac{d}{dx}(0 + x - \frac{x^2}{2} + \frac{x^3}{3} - \frac{x^4}{4} + \frac{5}{5})$
 $= 1 - x + x^2 - x^3 + x^4 - x^5 + \dots$

We know that $(1 - x + x^2 - x^3 + x^4 - x^5 + \dots)$ is the Taylor series for $g(x) = \frac{1}{1+x}$, because:

$$\sum_{n \geq 0} \frac{(-1)^{n+1} g^{(n)}(0)}{n} x^n$$

$$\begin{aligned}
&= g(0) + g'(0)x + \frac{g''(0)}{2!}x^2 + \frac{g^{(3)}(0)}{3!}x^3 + \frac{g^{(4)}(0)}{4!}x^4 + \frac{g^{(5)}(0)}{5!}x^5 + \dots \\
&= \frac{1}{1+0} - \frac{(\frac{1}{(1+0)^2})x}{1!} + \frac{(\frac{2}{(1+0)^3})x^2}{2!} - \frac{(\frac{6}{(1+0)^4})x^3}{3!} + \frac{(\frac{24}{(1+0)^5})x^4}{4!} - \frac{(\frac{120}{(1+0)^6})x^5}{5!} \dots \\
&= 1 - x + x^2 - x^3 + x^4 - x^5 + \dots
\end{aligned}$$

Therefore, $\frac{d}{dx} \log(1+x) = 1 - x + x^2 - x^3 + x^4 - x^5 + \dots = \frac{1}{1+x}$

Group: Clarissa Audrey (51844165), Mariana Paspuel (44069169), Tong Cui/Chelsea (31032162), Hongjiang Ye/Violet (52433166)